Ch.11 Review NAME: wfa/ PER:
NO CALCULATOR!!!

1. Write the equation in standard form, then find the coordinatgs

2. Find the standard form of the equation
of the vertex and focus. Identify the equations of the for a para t opens to the right, has
directrix and Sketch a graph using the a verte atk% 2) and passes through the

@ focal diameter for more accuracy. Show work. point ( ? Show work. &7
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Wirite the equation of the parabola that meets each set of
conditions. Graph ea{':\h ‘;Lmrabola using the focal diameter for more accuracy. Show work!
8. The vertex is at (—2, 4) and [d»umwﬁvd

4. The focus is at (2, 1), and the
the focus is at (—2, 3).
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5. Write an equation of the hyperbola where the length of the transverse axis is 8 units, and the foci are at (6,0)

ugh sketch of the graphzg a -y =0

and (-4,0). Show your work. It ma
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ék Write the equation of the hyper la 7. Identify the coordinates of the foci for the
in standard form. CW = \

hyperbola given in #6. Show work. No decimals!
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8. Identify the conic, then writg4x>/- 36x {4y> > 28y —2 =0 mdard forni. /

No decimals! Use fractions when completing the square. Clearly show all work {
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9. The center is at (1 ), the major axis 1s / “’5 10. The foc1 are a
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11.Construction A semi elliptical arch is used to design a
headboard for a bed frame, The headboard will have a height
of 2 feet at the center and a width of 5 feet at the base. Where
should the craftsman place the foci in order to sketch the arch?

Sketch a diagram and show work.
Don’t use a calculator. Use fractions when solving for c.
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12. Write 3x2 + 2y? + 24x — 4y + 32 =0 in standard form. Identify the center, vertices, foci, and carefully
graph the equation. Show all steps Use exact values, no dec1mals “ :& —p* N
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CHECK ANSWERS #1-12

x+2 @B, (x- 1)/€y+/° (=1 e 1) /)
99— 25

(12413, -2) 9{){(;% A (71,[2);%)/ /—4 1‘—/4.2@) W)




